Приложение 2







     Синякова Е. Г. 249-530-669

Расчет модуля Юнга и коэффициента Пуассона на примере лития в Maple.

>restart;

>E:=1/(S11-2*(S11-S12-.5*S44)*sin(theta)^2*cos(theta)^2);
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E = $1T— 2(511 — 512 — 0.5544) sin(B)? cos(8)?





>nu1:= -S12/(S11-2*(S11-S12-.5*S44)*sin(theta)^2*cos(theta)^2);
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V1= ST = 3(511— 512 — 05544) sin(8)? cos(B)?





>nu2:= -(S12+2*(S11-S12-.5*S44)*sin(theta)^2*cos(theta)^2)/( S11-2*(S11-S12-.5*S44) *sin(theta)^2*cos(theta)^2);
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V2o 2(S11 — 512 — 0.5544) sin()? cos(6)?





>S11:=315;   S12:=-144;   S44:=104;
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>plot(1000*E, theta=0..Pi);
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>plot(nu1, theta=0..Pi);
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>plot(nu2, theta=0..Pi);
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>theta:=Pi/4;   1000*E;   nu1;   nu2;
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